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A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (u'? —ut = 3u!® + 4u® + 3u® — 6u” + 2u8 + 2u® — 4ut + 3uP +u? — 2u+ 1)

* 1 irreducible components of dim¢ = 0, with total 12 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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I.
It = (u'? —u'' —3u'® + 4u® + 3u® — 6u” +2u8 + 205 —4u? + 3ud +u? —2u+ 1)

(i) Arc colorings

o)
)

ayg =

[

ag =
ud
ud —u3+u>
—ut 41
ub — 2ut + 2
—u? 4+ 2u" —ud — 2l +u
ar = —u? +3u =3’ +u

(ii) Obstruction class = —1
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(
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o= (o)
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(iii) Cusp Shapes = 4u'® — 12u® + 4u” + 16u’ — 8u® + 8u® — 8u? + 4u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C4 u? —utt 4 —2u 41
c2,C7 u'? —utt — w4 200 4+ 3u® — 40" — 208 + 40P+ 2ut - 3w —u? 1
€3 u? + Tutt 4 2u 41
Cs,Cg, C8 w? -3+ —2u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 y =Tyt -2y 1
C2,C7 y'? =3yt -2y 41
c3 g2 3yt 6y 1
Cs5,C6, C8 yP 13yt ey 41




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1C)

Cusp shape

—0.961384 + 0.2089701

—1.73974 4 0.715931

—3.95647 — 0.648741

—0.961384 — 0.2089701

—1.73974 — 0.715931

—3.95647 4 0.648741

0.958024 + 0.4605611

0.07674 — 4.249211

2.17649 + 6.983101

0.958024 — 0.4605611

0.07674 + 4.249211

2.17649 — 6.983101

0.049813 + 0.8440371

—4.04018 + 3.013071

0.63175 — 2.632511

0.049813 — 0.8440371

—4.04018 — 3.013071

0.63175 4 2.632511

= —1.238640 + 0.4353561

—7.91518 4 1.482341

—3.15258 — 0.675421

—1.238640 — 0.4353561

—7.91518 — 1.482341

—3.15258 4 0.675421

1.228550 + 0.4847061

—7.55816 — 7.801341

—2.36611 + 5.639811

1.228550 — 0.4847061

—7.55816 4 7.801341

—2.36611 — 5.639811

0.463636 + 0.4587191

1.43731 + 0.353101

6.66692 — 0.629811

gle|g|g|f|g|g|g|g|g|g =

0.463636 — 0.4587191

1.43731 — 0.353101

6.66692 + 0.629811




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C4 u? —ut - 2u 1
c2,C7 ul? —utt — w0 4200 4 3u® — 40" — 208 + 40 + 2ut — 3ud —u? + 1
€3 u? + Tt 4 2041
Cs, Cg, C8 u? =3t o —2u 41




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cq 22—yt 4 =2y 41
c2,C7 y'? =3yt 4 =2y 1
3 y2 — 3y 6y 1

cs5, Cg, C8 y2 13yt 4+ 6y + 1




